Subject: Re: vector of bin indices using histogram?
Posted by greg michael on Wed, 18 Oct 2006 15:38:32 GMT

View Forum Message <> Reply to Message

Yes, you're right - | do have those - thanks.
The second trick is intriguing, but | can't reproduce it:

IDL> p=randomu(0,1e8)

IDL> t=systime(1) & b=p*.5 &print,systime(1)-t
0.56299996

IDL> t=systime(1) & b=p/2. &print,systime(1)-t
0.54699993

IDL> t=systime(1) & b=p*(1/2.) &print,systime(1)-t
0.56299996

Could it be architecture-dependent?

Greg
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